Calcula el valor de x.

a) logsx=5 c) log;x= —1 e) logs(x—2)=>5 g) log; (2 —x)= —1
b) logsx=3 d) Iogix:ﬁl f) logs (x+2)=3 h) log,;(3+x) =4

a)
b)

3
log; x =5—=3 = x — x = 243

log:x =3 =5 =x —>x=125

log,x=—-1—22"=x—>x=05
[24 16

log, x=4 5 |—| =x 5> x=—
= 3 81

log; (x —2)=5—23 =x—2—>x=243+2=245

logs (x4+2)=3—>5 =x+2—> x=125-2=123
log,(2—x)=—1—22"=2—x—>x=-054+2=15

log; (3+x) =4 — 23" =3+ x — x = 279841 3 = 279838

Halla cuanto vale x.

a) log,3 = —1 b) log,5=2 c) log,3= -2 d) log,2=5
a) Iogx3:—1—>x‘1:3_>x:%
b) Iogx5=2—>x’-=5—>x=\/§ -
) Iogx3=—2+x‘2=3—>x2=%—>x=\j%

d) Iogx2:5—>x5:2%x:\5/27



Calcula el valor de x.

a) log;9* =2 e) log; 9" =3
3 3
b) log 2" = — f) log2%2=—
) 5 ) log >
c) In3*=—1 g) In3"°=3
d) log, 4" = —2 h) log, 277" = —2

a) log; 9" =2—>xlog;9=2—>52x=2—> x=1

3 3

b) log2" =— = xlog2=——>x= — x = 49829
2 2 2 log 2

c) In3* =—]—>X|03=—]—)X=;—>X=—O,9102

In 3
d) log; 4" =227 =4 527 =2"" 5 _2=2x4+8 > x=-5

g) log: 9" =323 =9" 53 =3"" 53=3x+9 > x=-2
f) |0927:i—>i|og2:i—>x: — x = 9,9658
2 2 2 log 2

i 3
g) In3**° :3—>(X—|—6)|n3=3—>x=|——6—>x=—3,2693
n3

h) logs 277 = -2 > (3x+4)log; 27 = -2 > 3+ 4=——
3

—2-12 —14

S =X =—
3 9

Determina el valor de x.

a) 8°=1.024 e) 8 7=1.024

b) 3* = 27 f) (39 =27

o 3 =27 g) 3 +18 =27

d) 10¢1= 10° h) 2%291 =

a) 8 = 1024 -2 =20 5 x =0
3

2 2 3
b) 3" =27 — 3" :33—»;»(:E

Q) 376 =27 536 =-3 5x2_6=3—x=+9 =43

d) 10" =10° 5 x—1=3—>x=4
¥=2 3x-3 10 16
g) 87 =104 522" =21 5 3x—6=10—> x=—

f) (31}2:2?—:»32"%33%2;(:3%;{:1
2





